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Question 8

The tangent to the curve y = -x2 + 5x at the point where x = 1, crosses the x-axis at the point 
(c/,0). Find the value of a.
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Question 9

The graph of a cubic function with rule y = f(x) is shown below. There are stationary' points 
located at (0, b) and (c,0).
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a. Write down the three linear factors of the function/

(pC ~ 4. V X ~c) -O

/. factors, <?ue C?c -&.)( -yc - c) tx-c)

b. Find the values of * for which /(x)>0.

fv^ oh'<yv\ positive. -t> 0~bp\re. jc-gMe/i

(K< >L < C , C < < oO3C 6 f g. , OP)

c. Find the values of * for which /' (jc) < 0 .

{ -x. e~ t Q-pP[

I +1 + 1 = 3 marks
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